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1. (a) Count on from 37 and stop at 40.

(b) Complete (i) 30+ =37 (ii) 37+ =40

2. (a) Count on from 64 and stop at 70.

| I I I I | |
60 61 62 63 64

(b) Complete (i) 60+ =64 (i) 64+ =70

correct TOn. (2) Q1: (a) 38, 39,40 (b) (i) 7, (i) 3 Q2: (a) 65, 66, 67, 68, 69, 70 (b) (i) 4, (ii) 6
Q3: (a) 87, 88, 89, 90 (b) (i) 6, (i) 4 Q4: (a) 44, 45, 46, 47, 48, 49, 50 (b) (i) 3, (ii) 7

1. (a) Count on from 37 and stop at 40.

(b) Complete (i) 30+ =37 (ii) 37+ =40

2. (a) Count on from 64 and stop at 70.

| I I I I | |
60 61 62 63 64

(b) Complete (i) 60+ =064 (ii) 64+ =70
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3. (a) Count on from 86 and stop at 90.

| I I I I [ I I |
80 81 82 83 84 8 86

(b) Complete (i) 80+ =86 (i) 86 + =90

4. (a) Count on from 43 and stop at 50.

41 | 42 | 43

(b) Complete (i) 40+ =43 (i) 43+ =50

3. (a) Count on from 86 and stop at 90.

| I I I I [ I I |
80 81 82 8 84 8 86

(b) Complete (i) 80+ =86 (i) 86 + =90

4. (a) Count on from 43 and stop at 50.

41 | 42 | 43

(b) Complete (i) 40+ =43 (i) 43+ =50
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